CuHYyC, KOCMHYC M TAHT€HC YIJIOB 0. U —0,

1. MocmoTpeTb BUAEOYPOK

https://youtu.be/r4DJ2htO0FE

2. Cnwucatb
%’H'X g—oc gn+oc gn—a
wiri £+ _ i _ s [0 _ i [0 _
5 T o) =cosa sin(5 — o) = cosa sin|{gn + o) = ~cosa sin{gn — of = ~cosa
cos(lzE + (x) = —gino cos (-725 - oc) = sino cos(gn + (7) = sino cos(gn - (x) = —sino
T _ T 3 3 _
tg 3t = —ctg o tg§~oc = ctga tg §n+0c = —ctga tg gh o = ctgo
ctg(—g it Ot) = -tga ctg(g - oc) =tga ctg(gn + oc) =-tga ctg(gn - oc) = tgo
T+ o el 2n + 2r — o

sin (n + o) = —sin o sin (r — o) = sin o sin (2 + o) = sin ¢ sin (2n — o) = —sin o

3.

cos (T + o) = —cos o
tg(m+ o) =tgo
ctg(n + o) =ctg a

Pewwntb 475-476

cos (T — o) = —cos o
tg(n — o) =-tgo
ctg (m — o) = —ctg o

cos (21 + o) = cos O
tg@r + o) =tga
ctg 2n + o) = ctg o

cos (2m — o) = cos O
te2rn— a)==tga
ety Cn— )= —ctg o


https://youtu.be/r4DJ2htOoFE

475

476

477

478

479

YupaxHeHHA

BuIYucaIUTE:

1) cos(—g) sin(_£)+tg(_§); 5 1+ tgz(__g) '

3

nasnf-Flon(2ralcFlom3)

4) cos(-n)+ctg(—§)—sin (—3 )-l-ctg (_f);

in| =% : 1 3
6)2sm( 8)+3+7,5t,g( 1t)+8cosz1|:.

YiupocTuTh BEIpaXXeHue:

1) tg (—o) cos o + sin ©; 2) cos o — ctg o (—sin a);

cos (—o) + sin (—a)

3) 3

cos? o — sin
4) tg (—a) ctg (o) + cos? (—at) + sin® o

o

BoraucauTs:
2—~sin2(—£)+cosz(—5)
1) 6 8%
2cos(—5)+sin(-—£)
3 6
3si —E)—z t (—E)+4 (—5”- )
2) fsm( = ctg 4 cos 21:

VYOpocTUTE BhIPpasKeHHe:
1 sin® (—a) + cos® (—0)

2)

1 —(sino + cos (—0.))?

1—sin (—a) cos (—a) —sin (—at)

JloxasaThk TOXAECTBO:

1) cos o sin (61 — @) - (1 + ctg? (—o)) = ctg (—a);

1-sin?(—a) sin (o —2n)

2
) cos (4n—a) 1-cos2(-a)

= ctg o.

PemuTe ypaBHeHHE:

1) sin (—x) =1; 2) cos (—2x) = 0;

3) cos (—2x)=1; 4) sin (—2x) = 0;

5) cos? (—x) + sin (—x) = 2 — sin? x;

6) 1 — sin? (—x) + cos (4n — x) = cos (x — 2m).
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